
Nom: 　　　　　　　 Date: 　　　　　　 Note: 　　　

Multiplier les nombres décimaux par des puissances
négatives de dix

4578, 3 × 0.01 = ________ 1155, 3 × 0.0001 = ________

8769, 7 × 0.1 = ________ 5610, 7 × 0.1 = ________

8523, 2 × 0.1 = ________ 2792, 5 × 0.1 = ________

8329, 7 × 0.001 = ________ 1160, 1 × 0.1 = ________

1595, 1 × 0.001 = ________ 9633, 1 × 0.1 = ________

4880, 8 × 0.0001 = ________ 6523, 6 × 0.1 = ________

7992, 8 × 0.0001 = ________ 5420, 7 × 0.01 = ________

1491, 5 × 0.001 = ________ 8701, 7 × 0.0001 = ________

8600, 1 × 0.1 = ________ 4436 × 0.001 = ________

6760, 1 × 0.0001 = ________ 2105, 1 × 0.01 = ________
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Nom: 　　　　　　　 Date: 　　　　　　 Note: 　　　

Multiplier les nombres décimaux par des puissances
négatives de dix

4578, 3 × 0.01 = 45.783 1155, 3 × 0.0001 = 0.11553

8769, 7 × 0.1 = 876.97 5610, 7 × 0.1 = 561.07

8523, 2 × 0.1 = 852.32 2792, 5 × 0.1 = 279.25

8329, 7 × 0.001 = 8.3297 1160, 1 × 0.1 = 116.01

1595, 1 × 0.001 = 1.5951 9633, 1 × 0.1 = 963.31

4880, 8 × 0.0001 = 0.48808 6523, 6 × 0.1 = 652.36

7992, 8 × 0.0001 = 0.79928 5420, 7 × 0.01 = 54.207

1491, 5 × 0.001 = 1.4915 8701, 7 × 0.0001 = 0.87017

8600, 1 × 0.1 = 860.01 4436 × 0.001 = 4.436

6760, 1 × 0.0001 = 0.67601 2105, 1 × 0.01 = 21.051
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